R

)

J =]

i

{

-

A T
E—#%

]a

T 1% |
IRIE2 BB

Power and productivity
for a better world™

#4 T 05




AR ERYL. KBV YWD~ M.
FMMENBREZSEEIIEAN, BEFE
FmlENMEABREEKERR A,

%fﬂ:ﬁﬁﬁ __Z_.%Iiic}

2 EETFEMTEEAEE—M B E2EEEMEN 01-2012 | ABBRHLTERMN



== 71 IR
— 8 FHIRIE2= S 4]

M EE=71-355, 0.25-355 kW

ABB—# IR IE2A S B LB S A S E M AR T HE ITEES 04
S e e AR
QOEM ot JIAT] o
& 134 Bl [E23 K — S5 EA 05
4
S HEYATEE HT1-355, THE %H0.25-355 kW, iiﬂggﬁﬁm 08
SNBY R T
— 5B 10
—ig IR B &
— FEECEBA 11

ABB RELFE RN | 5T I T 5 A EE—A AR E2R W BALEN 01-2012 3



IHWIER

ITEN, BRRBRHEIETTARREEM FAEHIR.
BHARE M2BA 112 MB
biid e 4

B AAEREN T RARS. ZEFR (IMRRE) IM B3 (IM 1001)
BESH 1 4 kW
il R ] 3GBA 112 212-ADB
P ARG (3098 )

| -
Y ES
D,EF

MZBA 112 MB 3GBA112 212 - ADB, 122, 451, etc.

| | |3|4 |5|5|?|a|9m|11f12 13|14 |

A BHES D REFTARS E SEEMEER F =RERE (EREE

B BALRT K& )

C *mfti

- > >
= m g1 AR
3GBA = JI B
B B 1=24# A = BHRENEH
2 =44 B = MRENOHHBILAA O,

BESFE 3 =64# C = ORBVENSHFEIAALH/NOR.
IECHLEER T F = EHRETANSRLEDEH. THOS.
05 = 58 18 = 180 fi'® 8-10 H = EHREEMNOREEDEY. $EANLOR,
06 = 63 18 = 180 FF31S J = EHRENNNSRERG. HRGILANO%E.
o7 = 71 20 = 200 o 11
08 = B0 22 = 225
09 = 90 25 = 250 - (W) g;;&*
10 = 100 28 = 280 M
11 =112 31 = 316 W - dn

13 = 132 35 = 3565

4 ERTUMNTHAER MBS E28%EHEN 01-2012 | ABBRRMARRH

D 400 VA, 415 VA, 460 VA 80 Hz, 690 VY 50 Hz
S 230 VA, 400 VY, 415 VY 50 Hz, 460 VY 60 Hz*)

| 14
FREREABC. = FRERHERETRNE

‘) M2AAZ00, AEIERREETI80VDAMEE.




— i IR E L IE2
“HEeHARZRBYVNFAEIE

IPS5-IC411 - ERWBEF, RANEB
§SIEC 60034-30; 2008 MIE2EF R

HE

IEC 60034-2-1; 2007 @-m HIE *ﬂ. &

#w¥ 34 12 X | T T T @&RE % L,
Wi %38 ke aw m% N L T T T y-iueprER
kW  HunE ERRE rfmin  100% 75% 50% cosg A W Nm Ty Ty kgm? kg dB
3000 rimin =2 & 400 V 50 Hz CENELEC-# i

037 M2BA T1MA 3GBAO71211--+B 2680 682 735 737 080 086 39 132 22 23 0.00038 11 a8
055 M2BA TiMB 3GBA 071 212---B 2680 732 773 783 085 127 43 185 24 25 0.00051 11 56
0.75 M2BA B0 MB 3GBA 081 212--B 2895 806 799 762 074 181 7.7 24 42 42 0.001 16 57
1.1 M2ZBEA 80 MC 3GBA 081 213---B 2870 818 824 B02Z 08B0 24 75 36 27 35 0.0012 18 60
1.5 MZBA 803 3GBA 091 101---B 2890 822 825 803 081 32 72 49 25 30 000198 22 63
1.5 M2BA 90SLB 3GBA091212---B 2900 822 841 827 086 3 75 49 25 26 000254 24 69
2.2 M2BA 9S0L 3GBA 091 102--«B 2B75 834 845 B35 0B84 45 66 73 23 24 000254 24 63
2.2 M2BA 90SLC 3GBAO091213---B 2885 847 867 857 087 43 68 72 19 25 00028 29 64
3 M2BA 100LB 3GBA101212--B 2025 852 8490 828 086 59 91 87 31 35 000528 36 68
4 M2BA 112MB 3GBA 111212---B 2895 861 @870 666 086 7.7 81 131 28 32 000575 37 70
55 M2ZBA 132SMB 3GBA 131212--B 2865 880 886 880 086 104 70 183 20 27 001275 €8 70
7.5 M2BA 132SMC 3GBA 131214---B 2800 886 888 875 084 145 73 247 20 36 001358 70 70

1 M2BA 160 MLA 3GBA 161044---G 2820 858 810 907 088 198 58 358 16 27 0038 118 68
15  M2BA 160 MLB 3GBA 161045-+G 2934 9141 922 920 090 264 7.0 488 25 3.1 0048 133 68
18.5 M2BA 160 MLC 3GBA 161046--G 2934 0910 918 912 089 329 7.3 602 26 32 0052 141 73
22  M2BA 180 MLA 3GBA 181042--G 2933 915 928 928 091 381 7.8 716 30 35 0.062 173 73
30  M2BA 200 MLA 3GBA201043--G 2950 922 9298 923 089 527 7.8 971 27 33 0092 214 75
37  M2BA 200 MLB 3GBA 201044--G 2947 925 930 925 091 634 7.7 119 28 36 0.116 240 75
45 M2BA 225 35MA 3GBA 221042---G 2656 0830 835 929 090 776 81 145 31 34 0187 287 75
55 M2ZBA 250 SMA 3GBA 251042---G 2960 9838 5843 936 090 95389 68 177 26 25 0.275 339 75
75  M2BA 280SA 3GBA281110--L 2977 940 937 923 088 130 76 240 21 30 08 530 78
90  M2BA 280 SMB 3GBA 281220--L 2976 943 042 931 080 153 74 288 21 29 09 570 78
110 M2BA 3158MA 3GBA311210--L 2982 946 941 927 086 195 7.6 352 20 3.0 1.2 750 78
132 M2BA 315SMB 3GBA311220-~L 2082 08498 048 934 088 228 7.4 422 22 30 14 810 78
160 MZBA 315SMC 3GBA 311230---L 2881 652 850 941 088 272 75 512 23 30 1.7 800 8
200 M2BA 315MLA 3GBA311410.-L 2980 953 952 944 080 336 7.7 640 26 3.0 2.1 1020 83
250 M2BA 355 SMA 3GBA 351210---L 20683 0854 0852 09643 O0B8 424 68 BOO 15 28 27 1310 83
315 M2BA 3555MB 3GBA 351220-~L 2980 854 954 947 089 535 7.2 1009 19 28 34 1450 83
355 M2BA 3558MC 3GBA351230--L 2083 955 955 949 088 609 74 1136 21 27 36 1520 83
3000 rimin =2 & 400 V 50 Hz A5 iR 3
110 MZBA 280 SMC 3GBA 281230---L 2878 947 9846 938 090 186 79 352 24 30 115 640 78
FEABDHARAMEARTITENRESR. CERHAERS (MITHELR) . L), = BRERk
TIT, = HFEEEE
T,/ T, = Bk

HRIEIEC 60034-2-1:2007m B3R, BHEEME,
EEE, ENEAERAEN, JEHERATLE,
ABBE 2418 el ki R R, BRIENRSGHABRE ( HiNRE) .

IEEE S EHEH0.75 kW-375 KWEIEH],

ABB BUEERRH | ERTERDTSNER—RFARE2R ¥ BHEN 01-20125



— R F

IR HTAE

571

=HEH AR EIE

IP 55 - IC 411 - BB EF, AFAWED
fF&I1EC 60034-30; 2008 MIE2M RS H

RV IN:SES T N

T

IE2

ol
IEC 60034-2-1; 2007

2 S .. ) K
Wwe o4 12 Mx . . ¢ g BE B Ly

L fo] Wik il MM A W la & J=1/4GD* ER
kW  ANms = SRE rimin  100% 75% 50% cose A Ik Nm Ty Ty kgm? kg dB
1500 r/min = 4 400 V 50 Hz CENELEC-iit#
025 M2BA T1A 3GBA 072 101---B 1365 683 708 697 081 065 35 174 19 20 0.00074 10 45
025 M2BA T1MA  3GBAO0O72211--+B 1385 683 708 697 081 065 35 174 19 2.0 000074 10 45
037 M2BA T1B 3GBA 072 102---B 1380 724 745 746 083 088 40 25 16 21 0.00088 11 45
0.37 M2BA T1 MB 3GBA 072212-+B 1380 724 745 746 083 088 40 25 1.6 2.1 0.00088 11 45
0.55 M2BA BOA 3GBA 082 101---B 1415 745 738 700 073 145 50 37 20 28 0.00144 15 45
0.55 M2BA 80MA  3GBA 082211-«B 1415 745 738 700 073 145 50 37 20 28 0.00144 15 45
0.75 M2BA 80MD  3GBA 082214-+-B 1430 810 807 773 073 183 53 5 27 32 000208 17 50
1.1 M2BA 90 SLB 3GBA 092 212---B 1435 836 845 B832 08B0 23 B1 7.3 27 34 0.0044 25 20
1.5 M2BA 90SLD 3GBA092215+B 1430 B84.3 856 847 083 3 63 10 27 3.4 0.0053 27 56
22 M2BA 100LC 3GBA 102213-+B 1450 859 851 834 078 47 64 144 29 36 000948 38 56
3 M2BA 100LD 3GBA 102214---B 1450 868 87.0 B854 079 63 77 197 29 34 0.011 38 58
4 M2BA 112MB 3GBA 112212--B 1440 868 877 873 081 82 7.0 265 25 29 0.0125 44 59
55 M2BA 1328 3GBA 132101--+B 1480 878 878 B59 076 118 6.0 359 1.8 2.7 0.02635 60 66
55 M2BA 132SMB 3GBA 132212---B 1460 89.0 898 B89 080 111 58 359 17 2.4 003282 70 67
75  M2BA 132SMC 3GBA 132213--+B 1450 89.3 90.1 900 081 149 56 493 16 24 003659 73 B4
11 M2BA 180 MLA 3GBA 162043---G 1483 902 914 912 085 207 71 717 26 30 0.084 134 65
16 M2BA 160 MLE 3GBA 162044---G 1463 906 918 916 084 284 7.2 979 27 3.6 0.095 141 65
185 M2BA 180 MLA 3CBA 182043---G 1484 912 923 921 084 348 79 120 31 36 0.112 175 62
22 M2BA 180 MLB 3GBA 182044---G 1485 916 925 921 083 417 80 143 30 38 0.13 187 65
30 " M2BA 200 MLA 3GBA 202042---G 1474 9523 934 535 083 565 7.3 184 27 29 0.217 241 62
a7 M2BA 225 SMA 3GBA 222043---G 1479 930 939 938 084 683 7.2 238 26 29 0309 203 68
45 M2BA 225SMB 3GBA 222044---G 1479 932 9540 937 083 839 74 200 24 31 0388 318 68
55 M2BA 250 SMA 3GBA 252042---G 1478 935 942 937 085 998 7.3 356 28 3.0 0476 342 70
75 M2BA 280 SA 3GBA 282110---L 1484 842 842 935 085 135 68 482 25 28 1.25 515 71
90 M2BA 280 SMB 3GBA 282220--L 1483 944 946 941 086 1680 7.2 578 25 27 15 575 71
110 M2BA 315 SMA 3GBA 312210---L 1487 947 946 938 086 184 7.2 706 20 25 23 775 78
132 M2BA 315SMB 3GBA 312220---L 1487 050 950 9843 086 233 7.1 847 23 27 28 830 78
160 M2BA 315SMC 3GBA 312230---L 1487 952 953 946 0B85 285 7.2 1027 24 29 28 870 78
200 M2BA 315MLA 3GBA 312410-L 1486 953 954 949 086 352 70 1285 23 28 35 985 78
250 M2BA 355 SMA 3GBA 352210--L 1488 952 9852 944 0B85 445 6.7 1604 2.0 26 54 1400 82
315 M2BA 355SMB 3GBA 352220---L 1488 955 955 948 0B5 560 7.3 2021 22 27 689 1570 82
355 M2BA 355 SMC 3GBA 352230--L 1487 955 957 952 086 623 6.8 2279 24 27 7.2 1650 82
1500 r/min = 4 & 400 V 50 Hz i
110 M2BA 280 SMC 3GBA 282230---L 1485 949 851 946 0B6 194 7.6 707 30 30 185 B40 71
" EFEEF FEABTARTEARTYEAREADS. AEREERS (RITHERSR) . L1, = BEhak

RIBIEC B0034-2-1:2007THER, S HEHE.,

ﬁﬂl

FEARTERAN, BEHERFITHLYE,

ABBE S##EEEEITRHEEN, BRENRSHAERRE ( MiniEs) .

|[EFR P ZETIEAH0.75 KW-375 KW EH,

8 ERTUMITHAERE A2 E28 % BHEN 01-2012 | ABBRRMARMH

TIT, = RTiEEHE

Tb; TH

= RAKE



_ﬂﬁi
=HEH7A

IR TAE
bR 2 T\ E

.

IPS5-IC411 - ERWEF, RANEB
§SIEC 60034-30; 2008 MIE2EF R

R IN: SES TN €7

|IE2

Igg 60034-2-1; 2007 Bk 53] g ih 5
W w4 12 X R B Lo
Wi % e e EE N b TN T T y-1aco ER
kW HEs =R r/min  100% 75% 50% cosg A h Nm Ty Ty kgm? kg dB
1000 rimin = 6 & 400 V 50 Hz CENELEC-#if
018 M2BA T1A 3GBA 073 101---B 900 637 638 590 071 057 31 189 20 21 000089 10 42
0.18 M2BA 71 MA 3GBA 073 211--B 800 637 638 580 071 057 31 19 20 21 0000889 10 42
025 M2BA 71 B 3GBA 073 102---B 885 672 672 626 0869 077 34 26 22 23 00011 12 42
0.25 M2BA 71 MB 3GBA 073212---B B95 672 672 626 068 077 34 268 22 23 00011 12 42
0.37 M2BA BOA 3GBA 083 101---B 915 710 711 670 069 1089 36 38 18 22 000187 15 47
0.37 M2ZBA 80 MA 3GBA 083 211--+B 815 710 711 670 068 109 36 38 1.8 22 0.00187 15 47
0.55 M2BA BOB 3GBA 083102--+B 920 739 750 728 071 151 38 57 18 22 000239 17 47
0.55 M2BA BOMB 3GBA 083 212-+B 920 739 750 728 071 151 38 57 18 22 000239 17 47
0.75 M2BA 90 SLC 3GBA 093 213---B 960 787 773 T25 058 23 45 74 23 31 0.00491 25 44
1.1 M2BA 90 SLE 3GBA 093 214---B 930 782 786 764 088 3 40 112 1.9 23 0.0054 28 44
1.5 M2BA 100L 3GBA 103212--B 950 822 829 816 069 38 40 15 15 1.1 000873 37 49
2.2 M2BA 112MB  3GBA 113212--B 850 825 838 817 069 55 44 221 1.7 23 00125 44 66
3 M2BA 1328 3GBA 133101---B 970 B35 838 8189 088 75 70 205 186 22 0031864 B9 57
3 M2BA 132 SME 3GBA 133211--B 975 853 845 813 083 8 556 293 18 29 003336 69 57
4 M2BA 132 MA 3GBA 133102---B 975 857 846 813 0863 106 56 391 24 29 003336 70 57
4 M2BA 132 SMB 3GBA 133 212--B 960 849 853 839 068 10 46 397 15 22 003336 69 57
5.5 M2BA 132 MB 3GBA 133103--B 960 863 873 867 073 126 46 547 1.7 21 0.0413 77 57
55 M2BA 132 SMF 3GBA 133214---B 965 861 866 855 071 129 51 544 20 23 00487 86 57
7.5 M2BA 160 MLA 3GBA 163 043--+ G 871 876 891 890 079 156 7.1 73.7 1.8 33 0088 141 81
11 M2ZBA 160 MLB 3GBA 163 044---G 970 B87 901 899 079 226 76 108 21 33 0119 157 61
15 M2BA 1B0 MLA 3GBA 183042--G 971 897 908 905 076 317 7.8 147 25 41 0137 187 61
185 M2BA 200 MLA 3GBA 203043---G 975 907 920 918 079 372 59 181 17 27 0.198 228 65
22 M2ZBA 200 MLB 3GBA 203 044---G 974 91.0 924 925 079 441 58 215 18 26 0222 241 B85
30 M2BA 225SMA 3GBA 223042---G 985 922 931 931 083 585 B9 280 24 28 0532 318 65
37 M2ZBA 250 SMA 3GBA 253042--G 985 924 932 930 083 696 66 358 24 28 0718 336 66
45 M2BA 280 5A  3GBA 283 110---L 990 928 930 921 084 833 70 434 25 25 185 500 71
55 M2BA 280 SB 3GBA 283120--L 990 933 935 928 084 101 70 530 27 26 22 540 T
75 M2BA 315 SMA 3GBA 313 210---L 982 940 940 930 081 142 70 729 21 27 32 705 75
90 M2BA 315SMB 3GBA 313220---L 992 943 944 936 083 165 7.2 866 21 27 4.1 800 75
110 M2BA 315 SMC 3GBA 313 230---L 882 947 ©948 942 083 201 7.0 1058 22 27 49 870 75
132 M2BA 315 MLA 3GBA 313410--L 982 949 950 944 083 241 72 1270 24 27 58 980 75
160 M2BA 355 SMA 3GBA 353 210---L 992 949 950 944 083 293 B2 1540 21 23 73 1290 77
200 M2BA 355SMB 3GBA 353220--L 992 952 ©54 948 084 3B0 B85 1925 21 23 97 1440 77
250 M2BA 355 SMC 3GBP 353 230--L 991 953 955 952 0B84 450 67 2409 23 23 113 1580 77
1000 r/min = 6 § 400 V 50 Hz 3 o il i
75  M2BA 280SMC 3GBA 283230---L 990 938 939 933 0B84 137 73 723 28 27 285 B30 71
Fﬁﬁﬂ#ﬂﬁﬁ‘ﬁﬁﬁm‘?ﬁﬁﬁ&ﬁi EEEMERE ( RITRELSR) . L/, = sm@.x
TIT, = BFHEHEIE
T, /T, = BA¥KE

HRIBIEC 60034-2-1: 2007 R, SHEEME.

RikE, EMRGERAMN, TEHMERE TR,
ABBE @R iE[E AT R IR EE, AMRIENREHRBHFE ( MNMAKE) -

IESE SR EEH0.75 KW-375 kWi H],

ABB BULEERH | ERTERTSNER—RFARE2R ¥ BHEN 01-20127



_ﬁr:

= IE285FKE

B l—EER

M2BA
RE" TEAN 71 80 90 100 112 132 160 180 200 225 250 280 315 355
kR 2 i
037 DEBEEET IR NA NA NA NA NA NA M M M ™M M M M M
040  WEEEEWME M M M M M M M M M M M M M M
043  SPMIEEHAIRIEL M M M M M M M M M M M M M M
188  D¥BIEFIMRK M M M M M M M M M M M NA NA NA
EOSRRH
178 FHA/MERIEL M M M M M M M M M M M M M M
Wi R
068 SRR M M M M M M M M M M M M M M
g doE: ]
141 ERHE M M M M M M M M M M M M M M
kIl
085  BMETAHAKI. M M M M M M M M M M M M M M
3.l L3
087  IhERiEhage M M M M M M M M M M M 8 S8 8§
Aot 54
450 ks, 100-120V M M M M M M M M M M M M M M
451  pn#dH, 200-240V M M M M M M M M M M M M M M
REAK
008  IM210VEMGEE%R%, [ECE=E,
EIM 100154 ( B3fR4EHNBM ) M M M M M M NA NA NA NA NA NA NA NA
009  IM2001EBMGEZ R4, [ECHhX,
BIM 1001iR4 ( B3jR4E B35 ) M M M M M M M M M M M M M M
047  IM3B01EZ %R, ECHEXE,
EIM 3001iE £ ( B5iREHB14 ) M ™M M ™M M M NA NA NA NA NA NA NA NA
048  IM3001GEX R, ECHXE,
FaIM 3601584 ( B14JR4HBS ) M M M M M M NA NA NA NA NA NA NA NA
066  IFEERT|AHAR (IMB3 (1001)
IMBS (3001) . B14 (3601) .
IM B35 (2001 ) & IMB34 (2101 ) B3 ) M M M M M M M M M M M M M M
Lt
114 FHREREE, FEFE M M M M M M M M M M M M M M
B ¥
005 2REPBPR, SRR, HPET M M M M M M M M M M M M M
072 DIRfEEH M M M M M M M M M M M M M M
BT ]
085  ERWH (HEEE. BE) .
AR T M M M M M M M M M M M M M M
135 REHBIFEIRIE TR M M M M M M M M M M M M M M
159  MiSMESEM made In......" M M M M M M M M M M M M M M
181 BioskiR, S M M M M M M M M M M M M M M
) {11
002  ERBMEE. SR, 8.
8T {EH M M M M M M M M M M M M M M
SRR
331  FHETFEUSESEHNIEI B M M M M M M M M M M M M M M
540 G EERIFR M M M M M M M M M M M M M M
L]
HEERLTFERMEA, T T ey
#1815 &18ABB,
M= ERIEEFEYAE, @FmEE~A,
BITHEETHERR
NA = Fi&E A

8 ERTUMITHAERE R FH2 E28% BHEN 01-2012 | ABBRRMARM#M

S=#HERLTES



fiEm" TEAA 71 BD 90 100 112 132 160 180 200 225 250 280 315 355
122 ETFREREVNEEEEAX
({NCC, 348, 150°C. ) M M M M M M M M M M M M M M
435 HTFHEHEPTCHEHME (3+®8F)130°C, M M M M M M M M M M M M
436 ETSHEREPTCHMEHM (38R ) 150°C. S s 8 8 8 8 8 8 8 8 8 S8 8 8
441  ETSHEAREPTCHEDRME (3-MEE, 130°C
3 ERE, 150°C) . M M M M M M M M M M M M M M
445 EFSEREPTI00 (2&) , 814 M M M M M M M M M M M M M M
230 HESEEHEHYE M M M M M M M M M M M M M M
447  BATERNESHMOESE,
TiEp s NA NA NA NA NA NA NA NA NA NA NA M M M
e =
230 #HESRERRHE M M M M M M M M M M M M M M
7 |
145  HARRHNERRIRS, 400v50Hz M M M M M M M M M M M M
148 HIrRBEE. M M M M M M M M M M M M M M
FREAD
701 NEREHR NA MNA MNA NA NA NA NA NA NA NA NA M M M
704 EMCERESHE. M M M M M M M M M M M M M M
S EERABTHEEAMER. TR TR S EARED,
¥ iF&18ABB,
M= RIEEFSRY Nk, HNHFFE~H,
FRITIHEE TR F R
NA = & B

S=#HFERATES

ABB MUEERH | ERTERTSNERE—RFARE2R ¥ BHEN 01-2012 9



MEEST71 — 3550 — ik FHIRIE2 S R B A
R~

ENZEDAaHIM1001, B3 MR ET A HIM 3001, BS
: ; .

=56 - 200 =225 - 355

MOOD4 18

U I'E'.’i’I =N
Laa .
i
T,
R pri— i — - oA A 02 57
o
IM 1001. IM B3 ja IM 3001. IM B5 IM 1001. IM B3 IM 3001. IM B5
CE D GA F £ L max :
R+ 15 g mE % R A B B C H K H M N P S
2 46 2 4-6 2 4-6 2 46 2 4-6 i
— R AR E
M2BA T 14 14 16 16 5 5 30 30 264 264 112 90 - 45 178 7 71 130 110 160 10
80 19 19 215 2156 6 40 40 321 321 125 100 - 50 195 10 80 165 130 200 12
30 ::24 24 27 27 8 8 50 50 357 357 514‘.‘] 100 125 56 219 10 920 ;155 130 200 12
100 28 28 31 31 8 8 60 60 381 381 160 140 - 63 247 12 100 215 180 250 15
112 EEH 28 1 31 8 8 60 60 403 403 190 140 - 70 250 12 112 :215 180 250 15
132 38 38 41 41 10 10 80 80 533 533 216 140 178 89 300 12 132 265 230 300 15
160 42 42 45 45 12 12 110 110 584 584" 254 210 254 108 413 145 160 300 250 350 19
180 48 48 515 515 14 14 110 110 681 681 279 241 279 121 433 145 180 300 250 350 19
200 ;'55 556 58 589 16 16 110 110 728 726 5313 267 305 133 473" 185 200 éEE-ﬂ 300 400 19
225 55 60 59 64 16 18 110 140 821 851 356 286 311 149 539 185 225 400 350 450 19
250 ;_'Eﬂ 65 64 69 18 18 140 140 878 @679 4!}3 311 349 168 0584 24 250 5{.“] 450 550 19
2808 65 75 69 795 18 20 140 140 982 982 457 368 - 190 768 24 280 500 450 550 18

280SM 65 75 69 795 18 20 140 140 1052 1052 457 368 419 190 768 24 280 500 450 550 18
3155M 65 80 69 B85 18 22 140 170 1216 1246 508 406 457 216 845 28 315 600 550 660 23
315ML 65 90 69 85 18 25 140 170 1330 1360 508 457 508 216 845 28 315 600 550 660 23
355SM 70 100 745 106 20 28 140 210 1399 1469 610 500 560 254 926 35 355 740 680 800 23

HE " 160MLE 64 L = 681
2 200, BEABYES K,
—iHESEEH AB  +0,8 HD:E& NS K
IM 3601, IM B14 D IS0 jB < @ 28 mm
’ 1SO k6 < @ 38 mm
o ISO m6 = @ 55 mm
RY M N P S F ISO h9
71 85 70 105 M6 H 05
80 100 80 120 Mse N ISO 6
80 115 95 140 M8 C 208

100 130 110 160 M8 EREHTERERY (£4: mm)

112 130 110 160 M8 mWEEIEN, HHAENHEAR
132 165 130 200 M10 www.abb.com/motors&generators &k

EHABB.

10 ERAFEHTEHER—BRARIE2HAEHLEN 01-2012 | ABBRHF Lt



R IE255 5K E

5 AL TE AT

R 80 90 100 112 132
b H &% EN-GJL-150/GG 15/GRS 150
) g MunsellE8B 4.5/3.25 / NCS 4822 B0O5G
FEALEE BV REFERERERSE, =70um
EH B R
HH % EN-GIL-150/GG 15/GRS 150
MR #Hl #SEN-GJL-150/GG 15/GRS 150
mEEE Munsel|E8B 4.5/3.25 / NCS 4822 B05G
P 4h P BUEMREFEREREANSRES Toum
R D 6203-2Z/C3  6204-2Z/C3  6205-2Z/C3  6206-2Z/C3  6206-2Z/C3  6208-2Z/C3
N 6202-2Z/C3  6203-22/C3  6204-2Z/C3  6205-2Z/C3
4 R E Rk B FEMAT, DREYE
Y 3 D VFEER
N EER e
AR E R
ARk 8 A A M-40~+160°C
Fatii HHE % EN-GJL-150/GG 15/GRS 150
FmahE BUVBEEREEREERES T0um
SRE] 5GW, Rk, SEERRALE,
-3 3.3 Lt 2 x M16 2 x M25 2 x M32
ok (Qu) AR (mne]) 4 B 10
BeEE B, 8T
¥ | HH BAEN, RA0%NERTSEL.
ma o &
W BEERAL 9011
e 4h e BLFLERRERRERRES T0um
BT B #H
BENT BREHF
SEEREP FERAT, KA TPTCHAEEE, 150°C
T RE HHE BESE
IEhik e S0
B b 1 B
niEs REW R 4 8W 25 W
Eat L] IP 65
AHFE IC 411
HAA HRFLAH I MAE, T HFTFRE,
R W RRRLAERBYLE

ABB BULEERH | ERATERTENERE—RFARE2RM EHEN 01-2012 11



1R IE2858kE

3 AL TE 9T

R 180 200 225 250
=T HH ¥ EN-GJL-200/GG 20/GRS 200
piib MunsellZ58B 4.5/3.25 / NCS 4822 BO5G
FEAE TEROYIREAE=T0um
EN 2 e B
HHE $HYEN-GJL-200/GG 20/GRS 200
ShRiE g e $HEEN-GJL-200/GG 20/GRS 200
HEEE MunsellE§8B 4.5/3.25 | NCS 4822 BOSG
EEHE WEGTEE=70pum
P S . D& 6209-2Z/C3 6210-2Z/C3 6212-2Z/C3 6213-2Z/C3 6215-2Z/C3
N 6210-22/C3 6212-22/C3
SRamE WMRAE HFESAT, DESE
3 D VIEER
N3 ViEER
nn 7)) TR B R
kR #E %%, YV EHB—X,
FEHE AR IR A =70um
L £9] 889, Y, EEAREMENE,
= Hi By
(2 x M40 + M16)") (2 x M3 + M16)
BR4RE (Cu) BEE (mm2) 35 70
Hhieer AR SL, BT
|eT M6 M10
RN S E] BREE, RA20%NEMTERN.
R HH LR 2
HENE M, NCS 8801-B09G
RELE EEBER= TOum
ETHE HH b2
LR BIRFEF
SEfEP FERAT, FHTPTCHRE®RE, 150°C
WTReE HH E&E
e Pl - SR
1 | i O
Mgk HEERBL 25 W 50 W
B S8 IP 55
AKX IC 411
R HRILRETHERE, ZMAEIFTHRE.
B3 5EFHE—tk

") MU R T %200, REA4S
(2 x MB3 + M18), BACuTBIATO mm2, |FLAMIO,

12 BRFENTHEAEE—RARE2WEEVIEN 01-2012 | ABBRNTE Rl



_ﬁﬁi

3 AL & AT

% IE285EKE

R+ 280 315 355
EF HE HEEN-GJL-200
p:ib: 3 1] Munsel 388 4.5/3.25 | NCS 4822 B05G
s TR EREUE=T0um
Bl BEEER
e $ESEEN-GJL-200
NUKIN N B S¥REN-GJL-200
HMEHS Munsell#£8B 4.5/3.25 /| NCS 4822 B05G
o E 40 18 FURGT IR = T0um
W D¥s 2-1% 6217/C3 6219/C3
4-6-i% 6219/C3 6222/C3
N 2-i% 6219/C3
4-6-1%
O SR A D
3 E D VIEER
N VIEER
i THERER, EHEM10x1
& HE YL PEEEN-GJL-200
BT BAS, RR25%NTNTEINE,
e T 40 TR PUEHTRGUE, = Toum (EATHREEAER )
W4T 5G{H, B, SNESRRENE,
-3 3.0 |EFL 1 x MB3, 2 x M20 1 x MB3, 2 x M20 2 x M75, 2 x M20
BKHEE (Cu) |®AA (mm?2) 2x150 2x240 4x240
REE BRBEL, sMRT
W4T M12 M12 M12
RN HE BES, RE25%NBEWMTEHNE,
Lt | HH BAH, RAH25%MNEMAENE,
piiihz . 12 FEEH, xLE
o5 T &b TR F A bR
EFed HE #
=k EHRGERF
4 (Rih FREAT, EAPTCHAEEME, 155°C
9% a HE E5F#
REWEE EREE
"] O
kT BREEREH 60 W 2x60 W 2x60 W
BiSE IP 55
REFER IC 411
HAA HAARETHAR, THEIITHRE.
B i RS B L

ABB BULEERH | ERATERTHNEE—RFARE2RN EHEN 01-2012 13



Bl BV EH~mUARER
ARFHE K

A
f%%i

(GRAS

{
Y =
{ 5-! .'._
=
i
\
it
|

ABBREE. FEREERNER AT BRI _ KEEBALE R B
SRiaE e A
Eﬂﬂl a = IECu HEMA ] =
ERITVCESERNT LD, W £ %ﬂ%ﬁm}ﬁ%ﬂ E gg:ﬂ
gg:ﬂﬁﬂmnmmzl&mn T ot

) Pt — REYISEE

g
ﬁg:;;m RS Ea — BB
syt B -:ﬁﬂ&ﬁﬁﬁﬁﬁﬁﬁ _ #s|mi
g - RRERRAAASR Y L L
BRI = e
— BHBBRR B =
i s R 3 Bl :zﬂﬁiﬁ
———— LK L L L :zgﬁﬁﬂ
g — FiRhE _ B REY TR
S * _ ERENEREY — BRTEREN
_ GsEy — 32
_ kel (TEFC) st .
‘iﬁ*ﬂi{“““” _ Mgy NEeTEE. K. W%
_ wEREN

14 ERFENTHEAEE—RARE2MEEVIEN 01-2012 | ABBRNTE Rl



Ml 15 o] B

| TE P

www.abb.com/motors&generators

RilmEa

-

>

{EERH

HEAREH
— A kL
>>> |[E2EREH
= 3=k
>>> |[E2E AL
EHan
>>> |E2 B EH
50 %61 ERL AL
>>> |[E1fRERR B
Seatl
>>> |[E14#RE R B
EElEH
H=h
i 8 e FE AL
ER AR
sk A
HE B
BiHE ]
T B
KA E

A"‘ Ponsrchomas g

Horme  Alpsat ABR Proveicts am] servioes  Nees ol Caisiers  |yewesbr spylei
Donngs 42 ABB Prodect Guide . Indutines aod ulifhen Bermica Gurde Contac! Detociory

Woagrs 200 Gensdslon

Motors and Generators

ABE olters 8 compraherind rangs of rekaia and lngh sy molids B0 genssaion
toer 31 Appheatons

ABE has what it @hes o heip overy industry and applcaton reach new leveds of

SR angy Al SRRngy SEVIIGE dean Under B i deenaning condbons C{ﬁ'ﬁ'ﬂ'ﬂﬁ
kst avalabie madenals wilth supenos ipchiveingy. the alecine. molors and genarations. ane
designed 1o operaln relably no mafer how challenging The [MOCess of applcabon, and
56 Ferens onw il £ pche cOAS.

ABB compistes acquisilon of Baldor Electe Company

weowar, bakdor ¢om

Our afering

L v Wl MGSOER

L B

— 'Winidl Powor Ganerators -+ Motors and Ganersioes for Explosive

= T

| + Symchromous Generabars -+ Traction motors and generators

I v Symchromors Molois

= + WSO symchronous motar anid i
% B
.

L -+ Sarvice

s

v High Wolsge |euctan Mot

Wobde werson - Sdomap  Login

St -

¥ Products & Seheoed enly

+ At Bed Dage
« Share s pago

Your preferences:
Linded Kangaom Sy o
e ~l

ABE contact for United
Kingdom

e, Fodaniaan

St | andifel touhtfy

8]
Downloads

Wi relpted doumanis and
dowmioads for
+« Motors and Generalors

Mews

= Entérpric as Frams Agrésmen] with
Zhall

« AEH pamranant magnat ganarsions
Pt Foipiarad's lafges| wored Ladm
{wdaa)

v AEH molom save Micheln enengy

A e ecDing

ABE sgns agroemant with Oryx 1o

sipply high qualty Oatar-based

el g al mgaor and ganaraae

mEniEnance serices

+ Riewulubonary ABB motor and drive
e hnodogy culs enengy
EonsurTplaan

+ ABE'S Head of Molom and
(Gonoraiors on e raw EL
resgulation Dvcea]

At Ll e b

Homa About ABR  Products and services . Mows centor Caresrs Invesior conbe
CHianings &2 AH-E-Frqmﬁ-uu. It el ki Sl e Contag] Depsiory
Geraral Perfterarc s Bzl

General performance motors

ABB's Ganeral moloms ant bast susted lor apoicabons whony smplicity and off= § -=-...l"_".."' # '
skl avalabtdidy are paramount. With ABE quality and supea these mobors hava the . J;- 1 !lﬁ
300res ppratialnd by volume cusiomes and sanal OEM s N ¥

act

R L )

Our offaring
# IEZ High Efficiancy Casi iron Mobars -+ BB Seamidard EMiciency Casd Iron Motor
Modor type MOEA, M2BAT hiotor bypa M2BA
IEC aizda T1 10 355 IEC sizes 71 b 250
035w 250 Y (25 0 551N
-+ |E2 High Efficlancy Aluminum Motors -+ BE1 Srandard Efficiancy Alumisum Moo
Rhoior hyps MCHAA, Mostor Bype WIZAR,
IEC dies BE o 260 IEC sanés B5 b 250
01085 b 55 kW 006 10 55 iy
-+ |EZ High Efficlancy Steol Motors
Iiohor Ty R,
EC apes 250 10 S0
TE b0 B30 KA

Mobio warsion.  Slamap  Logn

¢ Products & Serates only

+Eﬁl"|:|1u;n

= Share e page
Your preferences:

niwd Kingaom =] -
= -
ABB contact for Linited
Kingdom

Durea Rooinson

r&m'ﬁl: ancHer LUy El -
Downloads

Wharwr relpted dosyumenis and
dowrioads for

« Gandral Podbrnands holon

ABEB ¥ BERH | ERTEMTHNEE—MBIRIE2EEEHEN 01-2012 15




KA

www.abb.com/motors&generators

BMNABGBRTEREA W E R Z R
., BARBMEN. RWITHAERBR
WM. HAXHTEREFENKERER
A, ABBAFEIETFETE.

BNREMAH. TEAREPHEEMN
FrafF. EIEFRFAHRBABBHEE
EEMNEATaE=F7EE0. AHRRA
AEAXXHNE (TREEBARE
EBITAE) o

SAKK105488 CN 10-2012

® Copyright 2012 ABB.
IR

Power and productivity A'“
for a better world™




	M2BA样本_页面_01.jpg
	M2BA样本_页面_02.jpg
	M2BA样本_页面_03.jpg
	M2BA样本_页面_04.jpg
	M2BA样本_页面_05.jpg
	M2BA样本_页面_06.jpg
	M2BA样本_页面_07.jpg
	M2BA样本_页面_08.jpg
	M2BA样本_页面_09.jpg
	M2BA样本_页面_10.jpg
	M2BA样本_页面_11.jpg
	M2BA样本_页面_12.jpg
	M2BA样本_页面_13.jpg
	M2BA样本_页面_14.jpg
	M2BA样本_页面_15.jpg
	M2BA样本_页面_16.jpg

